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QID : 601 - In the following question, select the related word pair from the given alternatives.

Options:

1) Bus : Vehicle

CHIMCIES T

2) Car : Road

FR:AGH

3) Ship : Sea

Sigliel : 9IY

4) Train : Rail

ISy : U

Correct Answer: Bus : Vehicle
g9 : arg

Candidate Answer: Bus : Vehicle
CLIMCIEG T

QID : 602 - In the following question, select the related word from the given alternatives.
Big : Small : : Solid : ?

PorferRera srem & Ry g Rt # & weiftre wre 3 g

Tgl‘:B’l?l‘: (O ?

Options:
1) Metal

H‘I§
2) Liquid

GRG)

3) Smoke

g

4) Cold

LX)

Correct Answer: Liquid
GRS

Candidate Answer: Liquid
GREI

QID : 603 - In the following question, select the related word from the given alternatives.

Calculator : Calculations : : Scale : ?
FrferRae oo & fyw a1 Rreveat # 3 Faiftrd vreg @t gl
HeTrIACY T :  Fhel : ?


http://thepracticetest.in/cs_sscje_18/logout.php?appid=1368062d74107fc05177712c90c3885c
http://164.100.94.146/challengesystem/sendrollno.jsp?rollno=8008007313&scode=104&key=d10881cafb3a986e83d42da0cd34cf60

Options:

1) Inches

EE

2) Centimeters
Hefex

3) Measure
HTYAT

4) Steel

e

Correct Answer: Measure
HIOAT

Candidate Answer: Measure
HIYAT

QID : 604 - In the following question, select the related letters from the given alternatives.

MUFT : PXIW : : GONE : ?

FrferRae wem & faw 7g Rremeat § 3 Faftra sreri & gferg)
MUFT : PXIW : : GONE : ?

Options:

1) HMRL

2) JSPA

3) JRQH

4) HQRF
Correct Answer: JRQH
Candidate Answer: JRQH

QID : 605 - In the following question, select the related letters from the given alternatives.

PINK:TMRO ::SOLD : ?

FrferRaa e & fiw a1q Rrevent § & Faftra s1eRi &1 gfegl
PINK:TMRO ::SOLD:?

Options:

1) HQTX

2) WSPH

3) HAQV

4) AQBH
Correct Answer: WSPH
Candidate Answer: WSPH

QID : 606 - In the following question, select the related letters from the given alternatives.

SW:VA::LT:?

Fr=fefae wem & g o fyeredl § @ waftra starl @1 gfea
SW:VA::LT:?

Options:

1) NY

2)LA

3) OX

4) oL
Correct Answer: OX
Candidate Answer: LA

QID : 607 - In the following question, select the related number pair from the given alternatives.
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Options:
1) 16:259

2)13:171
3)14:199

4)14:195
Correct Answer: 13 : 171
Candidate Answer: 16 : 259

QID : 608 - In the following question, select the related number from the given alternatives.

42:105::38:7

FrferRaa e & fyg a1 Rreveal & & Hafta W w1 g
42:105::38:?

Options:

1) 111

2) 135

3)95

4) 83
Correct Answer: 95
Candidate Answer: 95

QID : 609 - In the following question, select the related number from the given alternatives.

24:39::49:?

FrferRaa e & fyg a1 Rrereal & & Hafta W@ w1 g
24:39::49:?

Options:

1) 68

2) 64

3) 69

4)79
Correct Answer: 64
Candidate Answer: 64

QID : 610 - In the following question, select the odd word from the given alternatives.

Fr=fefeaa wem # iy e faswedt § & faww v &1 g
Options:

1) Liver

TP

2) Intestine

3ire

3) Organ

30T

4) Lungs

HHS

Correct Answer: Organ

31T

Candidate Answer: Intestine
3ire

QID : 611 - In the following question, select the odd word from the given alternatives.

FrferRaa we= & g a7 Ryevedt & & frest vreg &1 gfogl

FRESHERS NOW



Options:

1) Black
BTl

2) Yellow
drer

3) Rainbow
EUgy

4) Pink

T[S

Correct Answer: Rainbow

dxey

Candidate Answer: Rainbow

wugy
QID : 612 - In the following question, select the odd word from the given alternatives.

Frferaa e & fag a7 Ryevedt & & forest ereg &1 gfoo )
Options:

1) Arteries

Briguf

2) Veins

-~

3) Hand

BRI

4) Bones

SR

<

Correct Answer: Hand
BRI
Candidate Answer: Bones

gfesa

<

QID : 613 - In the following question, select the odd letters from the given alternatives.

ForferRaa e & fyg a7 Rreredt & & fres s1ai &1 g
Options:

1) RLF

2) MGA

3) EYR

4) HBV

Correct Answer: EYR
Candidate Answer: EYR

QID : 614 - In the following question, select the odd letters from the given alternatives.

ForferRae e & fyw a1 fysreal & & frws a1 &Y gfmg|
Options:

1) IR

2) KP

3) GT

4) oV

Correct Answer: OV

Candidate Answer: OV

QID : 615 - In the following question, select the odd letters from the given alternatives.

foraferRad yem & fyw 1g et # & s a1a1Y @ g
Options:

1) XTQMJ

2) FBYUR

3) GCZVS

4) TPMIE

Correct Answer: TPMIE
Candidate Answer: XTQMJ

QID : 616 - In the following question, select the odd number from the given alternatives.

FrferRaa oo & fyw a1g Rrevet § 3 frew e &1 gl
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Options:

1)4 - 21

2)7-54

3)6 - 41

4)3-16

Correct Answer: 3 — 16
Candidate Answer: 6 — 41

QID : 617 - In the following question, select the odd number pair from the given alternatives.

FrferRaa e & fyg a1 Rrereat & & fres e gma &1 gl
Options:

1H)11-17

2) 23 - 31

3)43-59

4)41-47

Correct Answer: 43 — 59

Candidate Answer: 23 — 31

QID : 618 - In the following question, select the odd number pair from the given alternatives.

FerferRaa e & fyw a1 Rrereat & & frws s goa &Y gl
Options:

1)12-156

2) 13 -182

3)14-210

4)15-230

Correct Answer: 15 — 230

Candidate Answer: 15 — 230

QID : 619 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Shocking
2. Shiver

3. Shelter
4. Shorten
5. Shudder

FrfeTRead OTeal T WeTHIeT # S ATet 359 6 S T |

1. Shocking
2. Shiver

3. Shelter
4. Shorten
5. Shudder
Options:

1) 23145

2)32145
3) 14523

4) 41523
Correct Answer: 32145
Candidate Answer: 32145

QID : 620 - According to dictionary, which of the following word will come at LAST position?

1. Operation
2. Orderly
3. Openly

4. Opulent
5. Oral

VTSGR F SIPHR, ferferiae # & i 1 vreg SfRA worr uR SR

1. Operation
2. Orderly
3. Openly

4. Opulent
5. Oral
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Options:
1) Oral

2) Orderly
3) Opulent

4) Operation
Correct Answer: Orderly
Candidate Answer: Orderly

QID : 621 - From the given alternatives, according to dictionary, which word will come at THIRD position?

g g fyeheal & B, TTeEehTer & SIER, HIF AT 9TeE TR RATH TR 3T

Options:
1) Passage

2) Pastime
3) Patience

4) Pathetic
Correct Answer: Pathetic
Candidate Answer: Passage

QID : 622 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

AGM, FLR, KQW, PVB, ?

T 3TghH foar 1an 7, e & e us o 7 | g e Rt W & a8 wel faswmeu givg, St srgshH B g |
AGM, FLR, KQW, PVB, ?

Options:

1) UAG

2) VLC

3) CGN

4) PNO
Correct Answer: UAG
Candidate Answer: UAG

QID : 623 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

FROM, CNLI, ZJIE, WFFA, ?

T 3TghH fear 1 7, e & oo ue o 7 | g e fasmen) A & a8 w9l faswmeu givg, St srgshH B g |
FROM, CNLI, ZJIE, WFFA, ?

Options:

1) ACNG

2) TCCX

3) TBCW

4) FRIP
Correct Answer: TBCW
Candidate Answer: [ NOT ANSWERED ]

QID : 624 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

TRO, PNK, LJG, ?, DBY

T 3TghH foar 1 €, e & ues us o § 1 g e fasmen) # & ag wedl fasweu givg, S ergshH S qr |
TRO, PNK, LJG, ?, DBY

Options:

1) FBC

2) FNB

3) FRN

4) HFC
Correct Answer: HFC

FRESHERS NOW



Candidate Answer: HFC

QID : 625 - In the following question, select the missing number from the given series.
11,16, 21,13, 19, 25, 15, 22, 29, ?, 25 FRESHERS NOW
Foraferad yemr A fw 1u Rreped! # & = 3fw w1 SIRTT

11,16, 21, 13,19, 25, 15, 22, 29, ?, 25
Options:
1)18

2)17
3)19

4) 21
Correct Answer: 17
Candidate Answer: 17

QID : 626 - In the following question, select the missing number from the given series.
2112, 2328, 2671, 3183, ?, 4912
FrferRae e & fyg a7 fyspeal & & qw ofe sma AT

2112, 2328, 2671, 3183, ?, 4912
Options:
1) 3826

2)3742
3)3912

4) 3992
Correct Answer: 3912
Candidate Answer: 3826

QID : 627 - In the following question, select the missing number from the given series.

21, 22,34.5,71, 180, 543, 2

FraferRae wem & fyg a7 fyspeal & & qw ofe sma AT
21,22, 34.5,71, 180, 543, ?

Options:

1) 1864

2) 2234

3) 2336

4) 1904
Correct Answer: 1904
Candidate Answer: 1904

QID : 628 - M is 2 years older than P. L is 2 years older than O. O's age is the average of the ages of L and N, P's age is the average of the ages of L and M and Ls age
is the average of P and O. Who is the youngest?

MPH2HATSTZIL OF 2 AT TSI 81 O T 3G L 3R N & g 7 339t g, 3iR P 3t 31mg L ¥R M &Y 31y T 3iera § 8¥i L @t 31mg P iR 0 &t a1mg a7 s
g gEA BRI HIa 8?

Options:

1L

2)M

3)N

4)0

Correct Answer: N

Candidate Answer: [ NOT ANSWERED ]

QID : 629 - X said to Y that your mother's father-in-law's wife is mother-in-law of my father. How are X and Y related?

XY I FHET op T A b A B T R R AT A F 1 X iR Y T gER 9 H4 wata 82



Options:

1) X is sister's husband of Y

X, YHragahula g

2) X is child of Y's father's sister
X,Y%ﬁmﬂﬁmwm‘% FRESHERS NOW
3) Y is father's brother of X

Y, XHRars wig g

4) Y is sister's husband of X

Y, XS agahufas

Correct Answer: X is child of Y's father's sister
X, Y & rar o s wr I &

Candidate Answer: [ NOT ANSWERED ]

QID : 630 - From the given alternative words select the word which cannot be formed using the letters of the given word.

GEOGRAPHIC
ForfaRaa faweal 3 § 7 vreg gftre < fyw 7T oreg & 318 o7 THRT R TE AT S HehT:

GEOGRAPHIC
Options:
1) cheap

2) rogue
3) price

4) graph
Correct Answer: rogue
Candidate Answer: rogue

QID : 631 - If BANQUET is coded as ZYLOSCR, then how will NEW be coded as?

gfe BANQUET %Y BT & ZYLOSCR forar Sirar & df NEW &Y s & & ferar siream?
Options:

1) MVD

2) MDV

3) LCU

4) OFX
Correct Answer: LCU
Candidate Answer: LCU

QID : 632 - In a certain code language, 9124 means 'run around the block’, 2548 means 'don’t block the path' and 4763 means ‘chock a block full'. Find the code for
'the'.

fopY forf¥era e wreT o 9124 w71 3128 & 'run around the block’, 2548 T 372f € 'don’t block the path’ 31X 4763 T 312f & ‘chock a block full' | 'the' % foTT e siTd S |
Options:

1)1

2)9

3)2

4)4
Correct Answer: 2
Candidate Answer: 1

e [N

QID : 633 - In a certain code language, '+ represents -, - represents 'X, 'X' represents '+' and '+' represents '+'. Find out the answer to the following question.

90x10+25-5+50="?
fra fRoa Hs o d '+, - A ueRfa Hard, -, X B ueRia srar g, 'x, '+ S yeidid war € iR '+, '+ &Y yehdfa sxar g | Fr=falad ues &1 o ara w7

90x10+25-5+50="?
Options:

1) 81

2) 84

3) 100

4) 48

Correct Answer: 84
Candidate Answer: 81



QID:634-If11T@7=2,18@0=9and 22 @ 20 = 1, then find the value of 16 @ 10 = ?

11 @7=218@0=93R22@20=1,116 @ 10 = ? T A7 S H?
Options:

16

2) 160

3) 26

4)3

Correct Answer: 3

Candidate Answer: 3

FRESHERS NOW

QID : 635 - If A* B means A is father of B, A + B means A is sister of B and If A % B means A is daughter of B, then what does C * D % E + F mean?

TREA*BHT NI ERFA, BHTRIATE, A+ BHF I ZRFA B TgT 8 IRARA%BHT A ERFA BHI TN T A C*D % E+ F T aram a7ef &7

Options:

1) Cis F's husband

C Farufad

2) C is F's wife's brother

C,FA U ST uS g

3) Cis father of F

C, Farfrarg

4) Cis F's sister's husband
C,FalIagasrufa g

Correct Answer: C is F's sister's husband
C, Faagawrufa s

Candidate Answer: C is F's husband

C Farufag
QID: 636 -

Select the missing number from the given responses

ferg T faresedt +F < g T g

8 10 2

? 8

17 19 10

Options:
1)1

2)9
3)-1

4)-9
Correct Answer: 9
Candidate Answer: 9

QID : 637 - Which of the following terms follows the trend of the given list?

CABABABAB, ACBABABAB, ABCABABAB, ABACBABAB, ABABCABAB,
Frrefead & & i a1 ug <t i g & 6 AR 2

CABABABAB, ACBABABAB, ABCABABAB, ABACBABAB, ABABCABAB,
Options:

1) ABABABACB

2) ABABABCAB

3) ABABACBAB

4) ABABABABC

Correct Answer: ABABACBAB

Candidate Answer: ABABACBAB



QID : 638 - A ship starts from the port and sails 43 miles East, then it turns South and sails 17 miles, then it turns West and sails 25 miles, then it turns to its right and
sails 17 miles. Where is it with respect to the port from where it started?

T ST UIE | TeTT IR HAT & 3R gd ot 3iR 43 Hiet wreran € | e g SRmor 3t ok gear € &R 17 Wte =rerar 2 | iR g uRem 31 siR gea o el Ierar &
SR AR T SR e ax 17 HieT <retan § | o7 1S & 59 STgToT A Frete1 9 2T ofT S« 319 g STgTof fehareil g ¥ &7 FRESHERS NOW
Options:

1) 18 miles West

18 Wit uf¥=w

2) 68 miles East

68 #ieT qd

3) 18 miles East

18 Hrer &

4) 68 miles West

68 et uf¥=rs

Correct Answer: 18 miles East

18 Hrer g

Candidate Answer: [ NOT ANSWERED |

QID : 639 - Two planes start from the same strip. Plane P flies 15 miles West, then turns left flies 22 miles and lands. In the meanwhile plane Q flies 7 miles South,
then flies 11 miles East, then turns to its right, flies 15 miles and lands. Where is plane Q with respect to plane P?

3 @ T & Rgu & T RN AR § 1 @ P15 Wt ufem Y 3R Sgar 8 3R fRv a1E 8k geav 22 et Sg & 918 of'e war § | S WY @i Q, 7 Wier gfdor
B SR Tgar & AR AR 11 et gd A 3R Tgem & a2t e ero <1 SR Gehy 15 Hier I & a1E ole war | i P % Hed § Wik Q #gi 2
Options:

1)pZ6 miles East

26 Wi qd

2) 26 miles West

26 Hret uf¥ers

3) 4 miles East

AW gE

4) 4 miles West

4 b1 uf¥es

Correct Answer: 26 miles East

26 W gd
Candidate Answer: [ NOT ANSWERED ]

QID : 640 - In the question two statements are given, followed by two conclusions, | and II. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All officers are mothers
Statement II: Some doctors are mothers

Conclusion I: All doctors are mothers
Conclusion Il: Some mothers are officers

7o ¥ Y p fod A € Roraeh 3t €Y forsp | 3R 11 Tt T € 13Ut AT € R ST e Iow € TR 9 [T sitd a2al 9 = e g g | smueny faofa
BT & DY fau 7w forepaf § @ Sia-ar/aia-a HiRed w0 F B g1 g} T o Tadr /96 &, A BIS gl

YT | T P ATd &
YA |I: TT Siaed A1¢ §

forepd |; it S w1 &
s 1: o WG SRt &
Options:

1) Only conclusion | follows

Fad forem | T €

2) Only conclusion Il follows

hae forepd || T g

3) Both conclusions | and Il follow

1 e | ST R

4) Neither conclusion | nor conclusion Il follows
a1 o forseef | It @ 1 & Frsmet 1)
Correct Answer: Only conclusion Il follows

here forend |1 TE g
Candidate Answer: [ NOT ANSWERED ]|



QID : 641 - In the question three statements are given, followed by three conclusions, |, Il and Ill. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All desert is jungle
Statement II: All sand is desert

: FRESHERS NOW
Statement Ill: No trees are jungle

Conclusion I: No trees are desert
Conclusion II: No sand is trees
Conclusion llI: All jungle is sand

7o § i B fo TR € Rraeh amat = s |, 11 3R 111 Frepter TR €1 3t AT & T T e T € TR 98 I ST 928 § Pt ot g g1 1 3ty
forofa = & 1 i e et & & Sia-a1/@9-3 FilRaa ©u & s gRr a3 frerar s doar &/964 8, afl F1E g

YT |: T THTAA ST &
YT |I: T YT TR
FYUA Il: B U T AL 8§

frepd 1: B U wowRre TE &
fremd 11 FE T I TE §
forsd 11 T ST XA §

Options:
1) Only conclusion | follows

e forsnd | T8 8

2) Only conclusion Il follows

hae forepd || T g

3) Only conclusions | and Il follow

hae forepd | SR 1T ?

4) None of the conclusions follow
Sisiis TN Rl R E R
Correct Answer: Only conclusions | and Il follow

e forepd | NI TE R
Candidate Answer: [ NOT ANSWERED ]

QID : 642 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

fre=ferRae ST ammefer & & i | O Ry Ty g
3TTEpfer et 8 | ST ST oI FehelT?




Options:
1

0y

N
-

0

w
~

S
=

SRRy

Correct Answer:

=Y

Candidate Answer: [ NOT ANSWERED ]

QID : 643 -

Which of the following answer figure patterns
can be combined to make the question figure?

frr=rferRae S angfer o & @i & nfersat &1
TiEa 3T 7Y T3 ST BT ST oI el 57

-

FRESHERS NOW



Options:
1

2)
3)

4)

Correct Answer:

Candidate Answer:

QID : 644 -
In the following figure, square represents Artists, triangle
represents Military officers, circle represents collectors and
rectangle represents Fathers. Which set of letters
represents collectors who are either military officers or
fathers?

Tt fors 3 o, aeaTepRt Y reidfer e &, vyt fiferg
TR BT WE R 8, 39, Perged Bl Ha i e § 3
et firerralY et mrefifer asva &1 el @t ol AT e 9
ey B Hefiia Fwar & o ar o Piwdt siiftset & ar fmn
&

Cé F\ D

Options:
1)H

2)B
3)G

4)F
Correct Answer: F
Candidate Answer: [ NOT ANSWERED ]

QID : 645 -

Which of the following Venn diagrams represents the
relationship between Women, Mothers and Teachers ?

fr=faRad & & = |1 37 o afgara, |iaff afi farerel
&P ST HeY ST &7

-
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Options:
1

2

O @

3)

Yo

@

Correct Answer:

&

Candidate Answer:

QID : 646 -

Which answer figure will complete the pattern in the

question figure?

frrferRad % & PiH-T IR 1Hhr wy mpfer & uftrey

T ORI BRIT?

N

0

O

-

FRESHERS NOW



Options:
1

&

FRESHERS NOW

2)

3)

4

é\

Correct Answer:

é\

Candidate Answer:

QID : 647 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

&t et IR arepfort 7 A I s @Y iR o wy
amgfey ffea 1




Options:
1

\ /\ / FRESHERS NOW

2

3)
JAVANAN
/ \
FFAWY
/ AN

4)

Correct Answer:
JAVANAN
/[ \
FFAWY
/ AN

Candidate Answer:




QID : 648 -

@
A piece of paper is folded and punched as ,’
shown below in the question figures. From the rrEsERs o

given answer figures, indicate how it will appear
when opened.

T Tl H ORI AR BT D HIGHY IH
BC R T Gl & J1G I8 fobd IR STl ST
feamg &

Options:
1)

C o O
b0 0¢<
o 8 o

O A0

2)

oo
O o O
o B o
O—©

3)

4

> D
jm
>0_0<
0
O A O

Correct Answer:

ovo
C O O
R
o O o

PN)




Candidate Answer:

oVvo
C o O
>0 0¢<
o O o

O A0

QID : 649 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the

given figure?

i Tep SUUT I MN RGT IR G111 T &F TRt IR
il 3 F HIF-EY STHfer T4 TpfcT T Fe
ygferfars grft?

Options:

1)

2

3

4

OB

F O

P AN

S
I

F
O

FRESHERS NOW



Correct Answer:

R
A

Candidate Answer:

OB
A

QID : 650 -

A word is represented by only one set of numbers ag given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
caolumns and rows of Matrix-l are numbered from 0 to 4 and that of Matrix-l|
are numbered from 5 to 9. A letter from these matrices can be representad
first by its row and next by its column, for example 'H' can be represented by
21, 43 etc and 'R’ can be represented by 96, 87 ete. Similarly, you have to
identify the set for the word 'POEM'.

e 9T Tt U TG-S @IRT GEET AT &, ST T ot 7 2 foedt v
ez e &1 et 3 forg 0 e g arerl & &t At gy swfe o E, S

B T 2T STTgET & 81 SE-| & T S feh BT WA 0 ¥ 4 31 SR A5
T 9 81 57 TR W U 18R DI Tee! 9! Ul 11T aT5 3 T Tl aIa aenar
T AT 1 ISR 6 AT H' BT 21, 43 2N FRT S2ATIT A1 T & T R’ B
98, 87 M GTRT SATaT o WA 81 gt o¥E & Syt wH 7 BT 9w POEM' &

for &g 1 geaEE 2l

___Matrig| ST Matelx || Sl

i 1 | 2 3 a 5 & 7 2 ]
) A A | L A B 5 Q u ¥ N z
1 [% A | F B C [ [] [ W [+] z
2 J H | F B K 7 P N Q W 0
3 F 1 | a M L & % N R W M
4 | B | B H E 4 % R [ T 0

Options:

1) 76,69,01,33
2) 56,88,23,41
3) 89,56,44,02

4) 75,68,44,33
Correct Answer: 75,68,44,33
Candidate Answer: [ NOT ANSWERED ]

QID : 651 - Depreciation of fixed assets is an example of

Tt uREwfa T e SerERud |
Options:

1) deferred revenue expenditure
IfiTa Yo @y

2) capital expenditure

o =g

3) capital gain

TofieTe wfey

4) revenue expenditure

TSI T

Correct Answer: capital expenditure
Gofivra =g

Candidate Answer: capital expenditure

o =g

-

FRESHERS NOW



QID : 652 - Which one of the following is not a feature of monopolistic competition?

frmfofes & & -9 te RrovaT aiter wet 6 78 2

Options:

1) Large number of buyers and sellers in the market
IR § TdEERY 3R demarel &) gt T

2) Differentiated products constitute the market

frafea Scurel § ToR T9aT @

3) Product in the market is homogeneous

TSR H SIS TSI gram &

4) Selling costs are used for sale promotion

ferspa Tag & foru fersht emTa &1 T fepam wiram @

Correct Answer: Product in the market is homogeneous

TSR & ScUTe THSTAT T 8

Candidate Answer: Differentiated products constitute the market

frafea scurel § IoR T9aT @

QID : 653 - What is the maximum loan amount permissible under the MUDRA Yojana?

T AT & Sieata STfrad STgerd T | et 82
Options:
1) Rs. 50,000

50,000 U
2) Rs. 1 lakh

1 o B9
3) Rs. 5 lakh

5 g $Ud

4) Rs. 10 lakh

10 TG BUd

Correct Answer: Rs. 10 lakh
10 &M U

Candidate Answer: Rs. 5 lakh
5 ARG BUd

QID : 654 - As per a latest classification of countries by the World Bank India now belongs to which of the following category?

freg o g1 RFT 7T TO & TR FRITHEROT & STTHR YRS aaH # for Sioft & Taiftra 82

Options:

1) Upper-lower income country

S s aTe 3w

2) Lower-middle income country

Fr=T-Teaw 31T aTer 9T

3) Middle-middle income country

e | AEOH 3T el 297

4) Lower-upper income country

foreT-gea 3 aTenT 29T

Correct Answer: Lower-middle income country
forer-wemw sy arerm 9T

Candidate Answer: Lower-upper income country
forer-gea s aTe A9

QID : 655 - As per census 2011, which state had the lowest sex ratio?

2011 Y ST & SN, fF 5 # femgoTe west &+ om?
Options:

1) Punjab

EEIC)

2) Haryana

g

3) Uttar Pradesh

IR IR

4) Bihar

fogw

Correct Answer: Haryana

g

Candidate Answer: Bihar

fEr

FRESHERS NOW



QID : 656 - Pluralist Theory of Sovereignty emphasizes the importance of which of the followings?

TR & Tgerardl fagia A frafeiad # fora o ae R sirar 22
Options:

1) Association

L)

2) Monarch

RUS I
3) State

g
4) Government

TR

Correct Answer: Association

i)

Candidate Answer: [ NOT ANSWERED ]

QID : 657 - In which of the following countries the system of judicial review was originated?

Frafaad 9 & frg Jor & =afires |efter Homel! &7 Squd gam am?
Options:

1) France

Wi

2) Germany

ST

3) USA
Juay

4) Britain
o=

Correct Answer: USA

quag

Candidate Answer: Germany

Sy

QID : 658 - Under which article of the Indian Constitution is the District Planning Commission constituted?

Options:
1) Article 243 ZD
38T 243 2D
2) Article 244 ZD
244 7D
3) Article 242 ZD
242 7D
4) Article 243 ZE
HTOVT 243 ZE
Correct Answer: Article 243 ZD
ST 243 7D

Candidate Answer: Article 243 ZD

HTEVE 243 2D

QID : 659 - Which kind of majority is required for constitutional amendment in forming a new state?

T 74T o8 S 3 Ha eI+ Heme & foTq e agea anfgu?
Options:

1) Simple

GICIEUS

2) Two-third

Irfergrs

3) Three-fourth

Ae-aters

4) Two-third plus ratification by half of all states
Sr-fergTs wd armer e T srgEE

Correct Answer: Simple

HTYROT

Candidate Answer: Two-third plus ratification by half of all states

Sr-fergTs wd amer e @ srgEeE

FRESHERS NOW



QID : 660 - Which officer of the Government of India has the right to take part in the proceedings of parliament of India even though he is not a member?

HRT TXEN HIF-AT ATHRT TG 7 gl §Y W HRT TS B BRIATE! 9 HNT o BT STRUHR 1@l 87
Options:

1) Vice-President FRESHERS NOW
B Irsgufer

2) Attorney General of India

YR T T TRl

3) Comptroller and Auditor General

fri=re wa wgTeraEr wWiers

4) Election Commission

A Y

Correct Answer: Attorney General of India

WRA HT ST TR

Candidate Answer: Attorney General of India

YR T 3T TRl

QID : 661 - The term 'Stupa' is associated with which of the following event of Gautam Buddha’s life?

T VTG T & b St @l Frrferiad [ ger 9 wafd 82

Options:
1) Death

3

2) First Sermon

T U

3) Birth

R

4) Renunciation
Te-anT

Correct Answer: Death

T

Candidate Answer: Death

T
QID : 662 - Who was the last ruler of the Gupta Dynasty?

Options:
1) Puru Gupta

2) Vishnu Gupta

fere e

3) Skanda Gupta
-

4) Kumar Gupta

PHR T

Correct Answer: Vishnu Gupta

fersog et

Candidate Answer: Kumar Gupta

PHR I
QID : 663 - Where was Guru Govind Singh educated and learnt Persian?

T3 Tiferes Rig ot Rrem gl g2 iR o5 wRe gt Al o2

Options:
1) Lahore

wER

2) Amritsar

3) Patna

gcHr

4) Anandpur Sahib

STeYN AT

Correct Answer: Anandpur Sahib
SR AIfed

Candidate Answer: Amritsar

ST



QID : 664 - Which of the following was the precursor of Indian National Congress?

Frrafafaa & S WRAET TS HRET B SRR T oft?

Options:
1) Servents of Indian Society
2) Indian Association

3ftsT gafage=

3) Indian National Union
EIESREENECEIERET

4) Indian League

T i

Correct Answer: Indian Association
oeaw vaEfTe=

Candidate Answer: Indian League

e o

QID : 665 - During which governor general's time was the annexation of Sindh in British State done?

forr TR iR & e | Ry &1 faer fafewr wsor d far mam
Options:

1) Lord Dalhousie

Are Setaleit

2) Lord Chelmsford

S TS

3) Lord Ellenborough

AT TSR

4) Lord Hastings

@i e

Correct Answer: Lord Ellenborough
ISRCE R

Candidate Answer: Lord Hastings

ars gRew
QID : 666 - What is the second most abundant element on Earth's crust?

gt Bt AEE HUR TR () TR IUCTE] JHRT HH TR Feedl T 87
Options:

1) Carbon

EacEl

2) Silicon

Taferaia

3) Oxygen

SR

4) Hydrogen

Correct Answer: Silicon
Taferera

Candidate Answer: Carbon

EaCE)

QID : 667 - What is called a shallow stretch of river that may be crossed on feet.?

T BT TH ST R it gt a1 M & U fpar 51 |, T Hgarar g7
Options:

1) Ford

wE

2) Atoll

SiLa

3) Reef

TTeT
4) Lagoon

(%

orrect Answer: Ford

Candidate Answer: Lagoon

FRESHERS NOW



QID : 668 - Which among the following is a cold-dry wind?

Frafefaa & & #i9 4 ta <& iR g arg §?

Options:
1) Hurricane

b

2) Tornado

ST

3) Bora

IRT

4) Cyclone

SIECTIE]

Correct Answer: Bora
IRT

Candidate Answer: Hurricane

T

QID : 669 - The man-made reservoir Gobind Sagar located in Bilaspur is situated in which of the following states?

ey srafera wva fafia Semer Mite wrR FrafaRed # & fra o 3 Rea @2

Options:

1) Uttarakhand

STRIETS

2) Uttar Pradesh

AU

3) Punjab

EEIC)

4) Himachal Pradesh

fewmare wer

Correct Answer: Himachal Pradesh
et wewr

Candidate Answer: Himachal Pradesh

fewmarer wer
QID : 670 - Which among the following rivers does not flow from East to West?

FraferRaa & & Fi9-3 7 yd 3 uRaw &Y sk 7 gt 22
Options:

1) Narmada

T

2) Tapti

et

3) Cauvery

EaCEl
4) Mahi
aTg

Correct Answer: Cauvery

EaCE)
Candidate Answer: Cauvery

EACKi]

FRESHERS NOW

QID : 671 - Which of the following historical monument has been chosen as a "Swachh Bharat Icon" by the Union Government on November 21, 2017.

21 9deR, 2017 & feraforlRaa A fora Afagiie WRe & 90 TR A 'S8 YR 3ShA" & 1u 8 wafd fear?

Options:
1) Haveli Dharampur

FaeT ERIYRT

2) Charminar
TRAAR
3) Amaravati

SERTI

4) Vishwa Bharati

fersg W=l

Correct Answer: Charminar
IRHAR

Candidate Answer: Charminar

IRHAAR



QID : 672 - As per a recent announcement, where will India's first Electronic Manufacturing Cluster (EMC) come up?

BT &1 H Y 973 TN & SN W & WA Solasi 1 AThara T Belvex (STHHT) Bt FRATIAT BT ot SITgi?

Options:

1) Andhra Pradesh FRESHERS NOW
S8 T

2) Maharashtra

HERTSY
3) Rajasthan

RUSEZIG)

4) West Bengal

uf¥es a9t

Correct Answer: Andhra Pradesh
3T e

Candidate Answer: Andhra Pradesh

3T U9T

QID : 673 - Which of the following is a multilevel global campaign to spread awareness about importance of girl's education?

TSR BT R8T & Aged & IR A IHTwEHT hel & forq Frafaiad # & agwa<ia afaews S Hi-a1 82
Options:

1) Girl Rising

et s

2) Most Important Part of Our Life: Girls
FAR g &7 Ta 3rgH faear: anferer

3) Save Girls: Educate Girls

Sifetent sy aferert geTd

4) Education of Girls

Srfereprai @t frerm

Correct Answer: Girl Rising

et AT

Candidate Answer: Save Girls: Educate Girls

SrfereT Tamd; STfetsT T
QID : 674 - Which country will host the Summer Olympics 20207

oy 3feiftres 2020 Y ASTAT B AT I HWM?
Options:

1) Qatar

CGES

2) Tokyo

CAG

3) Rome

I

4) Jakarta

eI

Correct Answer: Tokyo
CaGe)

Candidate Answer: Qatar
Phd¥

QID : 675 - Which of the following sportsperson is not correctly matched with their respective discipline?

Frfafea & & fra ReemS &1 S 37 oa ¥ gofera 781 872
Options:

1) Jitu Rai : Shooting

S I T

2) PV. Sindhu : Badminton

. Rigy : dehien

3) Sakshi Malik : Boxing

Tl wferen : g

4) Deepa Karmakar : Gymnastic

St TR : e

Correct Answer: Sakshi Malik : Boxing
wreft afere : aifaT

Candidate Answer: Jitu Rai : Shooting

ST I - 9T



QID : 676 - “A Better India : A Better World” is writtenby .

T der R TR T FgRrfaet mE T
Options:

1) Arun Jaitley

STHUT Sieel

2) Aamer Hussein

SRR g3

3) N. R. Narayan Murthy

TH. TR, AR fh

4) C. Raja Mohan

Y. IS "

Correct Answer: N. R. Narayan Murthy
T TR, AR e

Candidate Answer: Aamer Hussein

QID : 677 - Which among the following has won the Nobel Prize for Chemistry in October 2017?

Frfeaa & 9 R sTRpaR 2017 H THRIA 9 & foTg et qREp SiaT 87

Options:

1) Jacques Dubochet

St ggae

2) Joachim Frank

shranfm e

3) Richard Henderson

Rerg s

4) All options are correct.

Wt fasmeu & § 1

Correct Answer: All options are correct.
Wt Rrpeu T 1

Candidate Answer: Richard Henderson

Rerg g

QID : 678 - On birth anniversary of social reformer Basavana how many volumes of Vachana were released by Narendra Modi in April, 2017?

31 2017 H, 7R W = TS GRS ST &) Siie U gerl & fha d¥envor ot forg 32
Options:

1) 21

2)20

3) 23

4) 25
Correct Answer: 23
Candidate Answer: 25

QID : 679 - In May 2017, with which country India has signed an agreement on Maritime Security?

7 2017 #, IR 7 For 27 & AT W YRET & AHIT IR gHRITER Y 87

Options:

1) Sri Lanka

sfrcieT

2) Bangladesh

AR

3) Mauritius

AR

4) China

Sin

Correct Answer: Mauritius
iR

Candidate Answer: China

9=

QID : 680 - Which neighbouring country of India measures prosperity by gauging its citizens’ happiness level?

IR BT I AT TSI 39 Afet HY = AR a1 Groft & TR gRT A0 B2

FRESHERS NOW



Options:

1) Pakistan
Trferear
2) Nepal
AuTer

3) Sri Lanka
sfieidT

4) Bhutan

Y™

Correct Answer: Bhutan

e

Candidate Answer: Bhutan

YT
QID : 681 - In which communication mode, data can be transmitted in both directions at same time?

fopT TR & YR H STST 6T AR Uh THY § S feomsl § Iua grar &2
Options:

1) Simplex

R

2) Full duplex

3) Half duplex
afg

4) Multiplex
A It

Correct Answer: Full duplex

ot SR

Candidate Answer: Multiplex

oI

QID : 682 - The computer program that converts assembly language to machine language is called

FHIER HT I VI i1 ST HTST 67 7efi+it rer & wuiaRa war g, Hgenars|
Options:

1) Complier

HHETIR

2) Interpreter

FEWR

3) Assembler

AT

4) Comparator

oL ey

Correct Answer: Assembler
TN

Candidate Answer: Assembler

IR

QID : 683 - Which is a base metal of amalgam alloy?

STHEITH FTSTHTY T ST HTg HIF AT 87

Options:
1) Aluminium

2) Mercury
uRT
3) Copper

GIEL
4) Zinc
ST

Correct Answer: Mercury
CIR
Candidate Answer: Aluminium

QID : 684 - Which of the following is the structure of graphite?

frrefaiaa & & o9 9 Awree 9 G=eT 22

FRESHERS NOW



Options:

1) Rigid three-dimensional

3¢ Premandt

2) Hexagonal

veaniy FRESHERS NOW
3)\Iike Football

Feaid ot

4) No option is correct.

1% frshea wE TE 2|

Correct Answer: Hexagonal

YTHIg

<

Candidate Answer: No option is correct.

F1s Rer w7 &1

QID : 685 - A wooden spoon is dipped in a cup of ice cream. Its other end will

TEHS! DY T AT BT STSHHIA & ol § GEAT AT | SHBqEU R |
Options:

1) become cold by the process of conduction

ATeT UTHAT & ERT ST gY ST

2) become cold by the process of convection

Hag+ ufshaT & gRT ST 8T S

3) become cold by the process of radiation

Tafep=or ufshar gy SS1 8 SITEET

4) not become cold

ST g

Correct Answer: not become cold

ST g

Candidate Answer: become cold by the process of convection
Hag+ ufshaT & gRT ST 8T I

QID : 686 - Which acid is the most abundant acid found in grapes?

SRR H HaH YR ATAT A FHI AT 3T UTAT ST 82
Options:

1) Oxalic acid

srferafers srT

2) Ascorbic acid

VpIfeid 3t

3) Tartaric acid

eTER® 3T

4) Formic acid

Hiltih 3T

Correct Answer: Tartaric acid
TR 3T

Candidate Answer: Formic acid

BT 3T

QID : 687 - The splitting of white light into its component colours is called .

23l TehT9T T ST rage! quif A fqure T wgerar gl
Options:

1) diffraction

IEECE]

2) refraction

SEChE

3) dispersion

fereroror

4) scattering

EEaLT]

Correct Answer: dispersion
fergroor

Candidate Answer: dispersion

fergrgor



QID : 688 - Which of the following statements are CORRECT?

I. Change in magnetic field produces induced current.
II. Flow of current in a conductor produces magnetic field.
I1l. Magnetic field related to coil can be produced by motion between conductor and coil.

frafafaa # ¥ F19 T FaT w2

I. Faera e # uRed= & IR oRT e gkl €1
II. TTeTeh A T eTRT Gl 815 e Heal B |
IIl. U & Feiftre gaara &1, TATeish T2 FUSe & Teg amifdra 7ifer & wRor gy wehar &1
Options:

1) Onlyland Il

Haer | gAT |

2) Only Iand Il

Ercikell

3) Only Il and llI

Haet Il gl

4) All statements are correct.

T HUT AL T |

Correct Answer: All statements are correct.

Tt o TET B

Candidate Answer: [ NOT ANSWERED |

QID : 689 - Which gas is used as a fuel in a rocket?

Tihe o SU9 & WU H B9 Y 39 BT SuIRT fohar wrar 272
Options:

1) Radon

It

2) Hydrogen

FIESIS

3) Chlorine

FAR

4) Nitrogen

ATgered

Correct Answer: Hydrogen

HESISE]

Candidate Answer: Nitrogen

BIEFC ]

QID : 690 - Which of the following is good insulator?

Frafafad & & T afean gares Hi9 91 82
Options:

1) Mercury

URT

2) Cadmium

FHsfam

3) Germanium

it
4) Glass
Hie

Correct Answer: Glass

Ele

Candidate Answer: Mercury
URT

QID : 691 - Which is the most abundant Vitamin found in carrot?

TR § T YR AT 8 B 91 et urar s 82

FRESHERS NOW



Options:

1) Vitamin A

e A

2) Vitamin B

fref= B

3) Vitamin C

fref=c

4) Vitamin D

fref= D

Correct Answer: Vitamin A

fraf A

Candidate Answer: Vitamin D

faerf= D

QID : 692 - How the rate of absorption of water through roots can be increased?

TSI & ATEAH | STeT & STV Y X H T ST Fevelt 32
Options:

1) Keeping the plants in the shade

Hier B BT # TEH

2) Keeping the plants in the dim light

dien Y He wehTeT A T@HY

3) Keeping the plants under the fan

Hier B U & e TEhY

4) Covering the plants with a polythene bag

tient sy uiferefia 3 ghaY

Correct Answer: Keeping the plants under the fan
Tier B e & e @Y

Candidate Answer: Keeping the plants in the dim light
giel Y He wehTeT A T@HY

QID : 693 - A spore producing plant is .

ST I R AT T UTSY S 2l

Options:
1) rose

2) bread mould
SIRIET B FHEE
3) potato

Sk
4) ginger

3IH

Correct Answer: bread mould
TR & THg

Candidate Answer: ginger
3qIH

QID : 694 - Which chromosome is responsible for manliness in man?

Y H GHe ¥ 1T B A1 PUREE Hao STRert 82
Options:

1) X0

2) Y0

3) XX

4) XY
Correct Answer: XY
Candidate Answer: XO

QID : 695 - The human eye forms the image of an object at its

CIECEE] R Y e T wferferr o B

FRESHERS NOW



Options:
1) cornea

Hiferar

2) iris
gRaTReT
3) pupil

gaelr

4) retina

gfeges

Correct Answer: retina

3fuea

Candidate Answer: retina

gfegea

QID : 696 - Which of the following is NOT a multicellular organism?

Frafaiad § & w7 &1 g ag-wifmer sia 7éf 22
Options:

1) Fungi

hdh

2) Spirogyra

3) Hydra
BIRRT

4) Paramecium

Tt

Correct Answer: Paramecium
CRULINE

Candidate Answer: Spirogyra

TTERNTST

QID : 697 - Which disease is caused by cadmium metal pollution?

FSTHIT YT % UGHOT H BI AT I T 87

Options:

1) Minamata
HArHTar

2) Itai-Itai
ST

3) Asthma
STRAT

4) Dermatitis

sHersfed

Correct Answer: tai-Itai
ECAES-CAES

Candidate Answer: Minamata

IR I

QID : 698 - Which of the following is an organic gas?

fermfoafead & 3 wiv @t Sifee dT 32
Options:

1) Carbon dioxide

HTI ST FATSS

2) Carbon monoxide

BT ATTRATES

3) Ethylene dichloride

TR STgFIRTSS

4) Nitrogen dioxide

ATSEIoT STE3RATS S

Correct Answer: Ethylene dichloride

TR SEFRTES

Candidate Answer: Carbon monoxide

BT AAINFAES

QID : 699 - Basel Protocol is related to which of the following?

e Wernie frrafeled & & frad wdftra 2

FRESHERS NOW



Options:

1) Ozone layer

S URe

2) Burning of forests

Tl BT AT

3) Sea water pollution

S Srer 1 T

4) Trans-boundary hazardous dumping
TARATH U ygTf & WATIR TRATHERT
Correct Answer: Trans-boundary hazardous dumping
TARATSH SIS Ul & WA FATHdaRoT
Candidate Answer: Burning of forests
Tl BT STAT

QID : 700 - Which of the following is parasitic food chain?

FrafaRad § & 9 Ui @Ter sjEer 82
Options:

1) Trees — Fruits eating birds — Lice and bugs
&7 el @M Tt et - S{ A A

2) Grass - Rabbit - Fox - Tiger

U - G - AT - 9"

3) Grass - Grasshopper - Frog - Snake - Hawk
o - feger - A% - 9 - 9w

4) Phytoplankton — Zooplankton - Fish - Hawk
9ISy ©ad - TO7 Tadh — HOell - aref

Correct Answer: Trees — Fruits eating birds - Lice and bugs

&7 . TheT T aTel Taft - A HS

Candidate Answer: Grass — Grasshopper - Frog - Snake - Hawk

e - feger - Ag® - | - 9w

QID : 701 - Which of the following quality of timber can be improved using Abel’s process?

Frafeiad & & o<t @1 Hi T T & uiRar I e S 82

Options:
1) Durability
Ageierar

2) Fire resistance
ST pfeRTersRar
3) Chemical resistance

TS AfeRTermdr

4) Strength

GICXSE

Correct Answer: Fire resistance
3ifee ufe_reraar

Candidate Answer: Durability

RERNICGI

QID : 702 - Which of the following shows the CORRECT decreasing order of rate of hydration of Portland cement compounds?

Frrafafaa § @ ol a1 e W AifTa! & T & g3 & g g 39 & faamar 22

O)ptions:

1
C,A>CAF>C,5>C,S
2)
C,A>CAF>C,S>C.S
3)
C,A>C,5>C,S>C,AF
4)
CAF>C,5>C,A>C,5
Correct Answer:
C,A>CAF>C,S>C,S
Candidate Answer:

CAF>C,S>C,A>C,S

FRESHERS NOW



QID : 703 - The proportions of ingredients in concrete mix are given by 1:2:4. What will be the actual quantity of the sand per unit volume of cement, if it.ti\igergoes
20% of bulking?

hspre Frsror # ARt T Ut 1: 2: 4 F SrguTa # o war B | e @6 wi gfe A § X9 6t arafire AT T ], A SHT 20% 6T TRIe FRESERS Now

Options:
1)1.5
2)2.4
3)4.6
4) 6.5

Correct Answer: 2.4
Candidate Answer: [ NOT ANSWERED ]|

QID : 704 - What is the range of slump (mm) of the concrete which is used as the mass concrete?

hehle ST AT & W & FaT fehar STrar &, sraara (Ry €Y drar = g2
Options:

1) 10to 15

10915

2) 20 to 50

20950

3)50t075

50975

4)75t0 110

759110

Correct Answer: 20 to 50
20950

Candidate Answer: 75to 110
754110

QID : 705 - In the symbol used to represent the concrete mix, MX. M stands for mix and numeric X represents the .

snte Fs1or & afafieg w3 & forg o g MX H, M Rysior & ferg € ik weameas X w1 ufaffreg drar g1
Options:

1) 7 days compressive strength

7 foet & e e

2) 14 days compressive strength

14 fo=t & Tfre araed

3) 28 days compressive strength

28 fomr & e Ay

4) 28 days tensile strength

28 foe & I TRt

Correct Answer: 28 days compressive strength
28 fo=1 & e et

Candidate Answer: 28 days compressive strength

28 fa=1 3 Tdie= arwedt

QID : 706 - According to the IS code, at what moisture content, weight of the timber is noted?

STE.TH. FIS & AR, Frd T wR, Y &7 aor Aire fomar s 82

Options:

1) 0.05

2)0.12

3)0.23

4)0.3

Correct Answer: 0.12
Candidate Answer: 0.3

QID : 707 - What is the recommended moisture content of timber, which is used as a structural element for windows?

Options:

1) 5-10%

2) 10-16%

3) 16-26%

4) 26-36%

Correct Answer: 10-16%
Candidate Answer: 10-16%



QID : 708 - Which of the following represents the smallest size (mm) of fine aggregate (sand)?

FrafaRad & & @9 91 9t T () & 999 B sar () ' ferar &2

Options:

1) 0.01

2) 0.06

3)1.5

4)2

Correct Answer: 0.06
Candidate Answer: 2

QID : 709 - What is the percentage content of silica in a good quality brick earth?

TS0 TUTEIT ATel! T S S€ T | SUTNT &1 STl 8, S6 RAferant el Sierere AT 7T 87
Options:

1) 20-30%

2) 30-40%

3) 40-50%

4) 50-60%

Correct Answer: 50-60%

Candidate Answer: 40-50%

QID : 710 - When timber is burnt in the wood fire over a depth of about 15 mm, the process of treatment is known as .

DS B IUAR B AFHAT RorTR A ST BT 3T H o T 15 el i gs a Fen e Srar g s FET S g
Options:

1) charring

TR

2) rueping process

BT ufshar

3) bethel process

erer ufshar

4) boucherie process

RT uftkar

Correct Answer: charring

TRRaT

Candidate Answer: rueping process

BT ufska
QID : 711 - The plasticity index and plastic limit of a soil is given by 25% and 20% respectively. What will be the liquid limit of the soil?

Rred 9 goeadT (M) gaai® iR gued (iiRed) WA Haer 25% 3R 20% @ & 7% § | fred o ave W &= 82
Options:

Correct Answer: 0.45
Candidate Answer: 0.45

QID : 712 - In the flow over length of 50 m, the head loss of 6 m occurred due to seepage. The hydraulic gradient is given by_____.

50 e &I e H TaTg 7, 6 WX B 1S FT HHH NaTd & SR G| gRgierd dSue ERUECIRSIGIE
Options:

1) 0.01

2)0.12

3)0.29

4)0.32

Correct Answer: 0.12

Candidate Answer: [ NOT ANSWERED ]

QID : 713 - Which of the following expression represents the CORRECT value of coefficient of curvature?

FraferRaa & & &4 <t SRE ashar & urie F W€ 7 B afafe S 22

FRESHERS NOW



Options:
1

2
C = (D3U )
i Dy, < Dy
2) 5
= (Dﬁﬂ )
3 ’ D,, =D,
2
C = ('D"U )
’ D,y % Dy
4)
= 'Dsu
Dy, < Dy
Correct Answer:
2
C = (D3U )
’ D, =Dy,
Candidate Answe:;:
c . (Ba)
’ Dy, x Dy,

QID : 714 - Which of the following apparatus is used to measure the liquid limit soil?

Rredt 9 axet e & wrom & forg FrrafearRad & & e Suss=or o1 wiT R w1 82

Options:
1) Casagrande apparatus
HATUTS SUBTT

2) Pycnometer

3) Ring and ball apparatus
T i afer Suswor
4) None of these
T AP TE
Correct Answer: Casagrande apparatus
HETUTS SURIT
Candidate Answer: Casagrande apparatus
HATUTS SUBIT
QID:715-
The compressibility of the fluid is given as 5x 107" Pa™'.

What is the Bulk modulus (GPa) of fluid?

&d & GhoTar 5107 Pa~ & &7 #F & ST
TR T $T UoArerdT A (GPa) FT &7

Options:
1)10

2)15
3)20

4) 25
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]|

QID : 716 - Which of the following is measured with the help of an orifice meter?

o & 9 19 a1 TRRAT Wiex o1 AT § 917 STy 872

FRESHERS NOW



Options:
1) Discharge

forde=

2) Discharge coefficient

ﬁéng FRESHERS NOW

3) Head of water
it 1 ST

4) Pressure coefficient
AT IOl

Correct Answer: Discharge
Prdg

Candidate Answer: Discharge

ferde=

QID : 717 - Which of the following represents the CORRECT range of coefficient of discharge of venturimeter?

Frafafad & & &i9 a1 agdier & frdgs & Tunie & Tg drr o1 ufafafe sxar §2
Options:

1) 0.32 10 0.43

0.3290.43

2) 0.4510 0.52

0.45¥0.52

3)0.54100.75

0.54¥0.75

4) 0.96t0 0.98

0.96 9 0.98

Correct Answer: 0.96 t0 0.98
0.96 ¥ 0.98

Candidate Answer: 0.32 10 0.43
0.3290.43

QID:718 -

A cube of dimension 2 m is floating in the water

with immeraging depth of 1 m. What is the weight

(kN) of the cube? (Consider unit wéight of water
as 10 kN/m® )

2 HICX & HTAH &I 9 1 Hicl HI Ial 605 &
oy Orelt 7 oK W@ B g T gt (kN)

T £7 (A il & 9= & Shls deld
10kN/m® &)

Options:
1)10

2)20
3)30

4) 40
Correct Answer: 40
Candidate Answer: [ NOT ANSWERED ]|

QID:719-
The Reynold number for the flow through smooth
pipe is given by 10°. The value of friction

factor for smooth pipe is

el UIsT & ATeEE ¥ yds & folv Eies dax 10° B
et oeT F v mior FE &

Ha Bl

o



Options:
1) 0.001
2) 0.018

3)0.089 FRESHERS NOW

4) 0.125
Correct Answer: 0.018
Candidate Answer: 0.001

QID : 720 - At a particular point in the channel, the specific energy and velocity of flow is given by 1.5 m-kg/kg and 2.5 m/s respectively. What is the depth of flow in
channel at that point?

T 4 U ey g R, fafere St $tiR g w1 AT SRR 1.5 m-kg / kg SR 2.5 m / s BT e SITaT € | 9 9 e | FaTg @ TENS R 87
Options:

1)05

2)1.18

3)2.32

4)25

Correct Answer: 1.18
Candidate Answer: [ NOT ANSWERED ]

QID: 721 -
A circular pipe of diameter 60 cm carries a
discharge of 2.5m*/s. What is the velocity

of flow (m/s) through the pipe?

60 ¥l =T Fr v acaeer usy F R
25m/s Bl U5 & FEIA T WAG (m/ s) FH
T T Y

Options:
1)2.5

2) 5.67
3)8.83

4)12.32
Correct Answer: 8.83
Candidate Answer: 2.5

QID : 722 - Which of the following represents the CORRECT relationship between the Chezy's coefficient, C and coefficient of roughness of channel, f?

Frafefaa & & Fi4 A1 <¥sft I[uries, C SR Aet ot GRERTUA Ui, f & fra wg Red o1 afafafre wwar 22
Options:

Correct Answer:

C—__
N

Candidate Answer:

C'_—
N



QID : 723 - Which of the following is calculated with the help of Moody equation?

T FHtamRor a5t wgTarer @ e & & fpeatt aromr @5t st 22

Options:
1) Discharge

g

2) Friction factor
a¥or FRE

3) Pressure

<dTT
4) Velocity of flow

TaTg % AT
Correct Answer: Friction factor
YU RSB

Candidate Answer: Friction factor

oY RSB

QID : 724 - Which of the following is responsible for the separation of boundary layer?

T U & 37T g1 b fore o o § i e 22

Options:
1) Positive pressure gradient

HhRTHD ST YIUTdT
2) High viscosity of fluid
a &Y ST AT

3) Low viscosity of fluid
xRt ugref @Y wH T
4) None of these

TH A HIE TG

Correct Answer: Positive pressure gradient
HBRIHD SaTd Tgorar

Candidate Answer: High viscosity of fluid
a B S AT

QID : 725 -
The settling tank of surface overflow rate of
4 5x107* m? Im?/s is used for design discharge of

2m'/s_ What is the surface area (m?) of the settling
tank?

Tele & HAAIAE &X 4 5x 107 m* /m?/s &I doIse
Ed & 3G 2miss BaEa & fErara

& forw far Sr &1 deioe &b FT waw A
(m?) @ &2

Options:
1) 1000

2) 2000
3) 3000

4) 4000
Correct Answer: 4000
Candidate Answer: [ NOT ANSWERED ]

QID : 726 - The rain is called as acid rain, when its pH is less than, .

FIRTT BT AT T HET AT I STH I NTHT____ A BA TR |
Options:

13

2)4.5

3)7

4)85

Correct Answer: 4.5

Candidate Answer: 7

FRESHERS NOW



QID : 727 - Using prismoidal method, what is the volume (cubic metre) of earthwork required for 10 m deep pit, if the top and bottom dimensions are 4038 m and 8
m x 16 m respectively?

i faftr 7 SUERT FRd gE, 10 Wi TR TSE & FAT v GRS FT e (9 Hiew) T § Aty o oiR e & a1 4 HieT x 8 Werrmiinessie} x 16 Wex
§?

Options:

1) 678.34

2) 746.67

3) 800

4) 1493.33

Correct Answer: 746.67

Candidate Answer: [ NOT ANSWERED ]

QID : 728 - For supply, lime is measured in .

AT 3MYfel o forg, ____ A AT S 21
Options:

1) bags of 50 kg

50 fopam & ST

2) cubic metre

9 H{ex

3) kilograms

foretrom

4) quintals

e

Correct Answer: quintals

e

Candidate Answer: bags of 50 kg
50 fopam & ST

QID : 729 - What is the estimate (Rs.) for a building with a plinth area of 2000 sg. m with rate of Rs. 3800 per sq. m? (Consider the adds of 15% of electric installation
and 7% of miscellaneous)

2000 e & wiv (Rrfeier) gisrmer & frtor & ferg 3800 % Uity ot #iex @6t &R & rgaTieiar WFeT (FU) T 82 A1 efiford T 15% feregat <ermu 3iR 7% fafarerar 21

Options:

1) 150000
2) 450080
3) 2423000
4) 9272000

Correct Answer: 9272000
Candidate Answer: [ NOT ANSWERED ]

QID : 730 - What is the quantity (sq. m) of plastering required for the 6 m length of wall which is 4 m high and 50 cm thick?

6 Wex o, 4 MeX S 3 50 VMY 4 San F 7T snavgs gerea &) 41311 (a7 Hiew) w2
Options:

Correct Answer: 48
Candidate Answer: 12

QID : 731 - The length, width and height of a wall are given as 800 cm, 500 cm and 50 cm respectively. What will be the total cost (Rs.) of brickwork, if the rate of
brickwork is Rs. 320 per cubic metre?

TS AR & Fas, wietE 3R Fars s 800 W, 500 T SR 50 Wt F wu 7 & 7€ F | Afy $-Romrg Y 3% 320 Fug fy v Hex § o $e-fomr @ ot o
(%.) FaT ERM?

Options:

1) 4000

2) 6400

3) 10500
4) 12860

Correct Answer: 6400
Candidate Answer: [ NOT ANSWERED ]|

QID : 732 - The plinth area rate and plinth area of a building is Rs 5500 per sq.m and 150 sq.m respectively. What is the total cost (Rs.) of building considering cost of
electrification as 7%, cost of sanitary fittings as 16%, cost of roads and lawns as 6.5% and cost of contingencies as 4.5%.

T TR BT Wi (Rifeter) st 3t aR 3R w9 eawet Hwer 5500 HUT Bk avf #iex oiR 150 uftr avf #Fiex & 1R 7% Rrggcfiesor 3 @mra, 16% Jfve feféar
B AN, 6.5% TSD! N AT B ANT 3R 4.5% 3B RAP ANTT P ®U & 0701 F foe ARTe (FU0) 7= 1



Options:

1) 50000
2) 825000
3) 982860
4) 1105500

Correct Answer: 1105500
Candidate Answer: [ NOT ANSWERED ]

FRESHERS NOW

QID : 733 - Which of the following item is NOT a lump sum item?

ferferRaa & & B |1 avg Thgea T awg T &2
Options:
1) Architectural features

!

2) Contingencies and unforeseen items
ST SR e awqd
3) Electric installation
RITYAT
4) Plastering of wall
R BT YT
Correct Answer: Plastering of wall
IR BT TR
Candidate Answer: Electric installation

[EECRSICE]

QID : 734 - What is the total cost (Rs.) according to approximate estimate of hostel building with capacity of 75 beds? The altogether cost per bed is given as Rs.
20,000.

75 IS BT &THAT ATl BTATATH & [ATT § SIHIT FeT aRT (FUT) AT B2 UiT UeiTT Fef AT 20,000 HUT fam a2 |

Options:

1) 500000
2) 850000
3) 1500000
4) 5500000

Correct Answer: 1500000
Candidate Answer: 1500000

QID : 735 - What is the volume of earthwork (cubic metre) in embankment of 10 m long and 7m wide with the side slope of 2:1?

2:1 Y UeT T & A1 10 Hex welt 3R 7 Wex St us dedu § gt (v We) o smaa = 82
Options:

1)70

2) 150

3) 280

4) 390

Correct Answer: 390
Candidate Answer: [ NOT ANSWERED ]

QID : 736 - Which of the following method is used to prepare the approximate estimate?

FrferRaa & & fre faftr o1 v srganfere srerper SR v & fere foma e 2
Options:

1) Cubical contents method

o= | fafr

2) Plinth area method

Y grawmet faftr

3) Unit base method

TS 37er fafty

4) All option are correct

T farpeu wEt €

Correct Answer: All option are correct
T frpea T &

Candidate Answer: Plinth area method

v gwet faftr
QID : 737 - In which of the following condition two contour lines intersect each other?

Frferae & & feer aRRferat o 2 wvirea Yad o e a1 #redt 82



Options:

1) Hills

TETS!

2) Overhanging cliff

TCHT gIAT A< FRESHERS NOW
3) Steep slope

LERIECIE]

4) Uniform slope

HHTT ©edld

Correct Answer: Overhanging cliff
Candidate Answer: Hills

REIS

QID : 738 - Which of the following scale of the map is not affected due to shrinking of map?

A & = AU § 9 i AEtas & Riged & SR g 98 g 82
Options:

1) Engineer’s scale

S HTaT T ATIH

2) Graphical scale

fersrer ATO®

3) Representative fraction
ufaey 79T

4) None of these

T A B T

Correct Answer: Graphical scale

Rt ATOR
Candidate Answer: [ NOT ANSWERED ]

QID : 739 - A surveyor measures a distance between two points on a map of representative fraction of 1:100 is 60 m. But later he found that he used wrong
representative fraction of 1:50. What is the correct distance between the two points?

T eT, 1: 100 & HioRed 37eT & wrates ux 3 Rigsil & fier gt &1 w1oa 8, 57 60 Hiex B | +ifth a1 & Sgiv uran i3 Swg14 1:50 % TTerdt Hiosed 3797 &7 SuanT
fopa 31 3 Rigelt & Mo e Qe

Options:

1) 30

2) 45

3) 90

4) 120

Correct Answer: 120

Candidate Answer: 30

QID : 740 - Which one of the following is the CORRECT statement for a station that is affected by local attraction?

fFrreafeafeaa & 9 i 91 7 o & forn Yy B g WY foh ey smedur 3 purfada 22
Options:

1) Difference between the fore bearing and back bearing is always equal to 90 Degrees.
319 S31RAT 3R gz F31f¥aT @1 3w Ao 90 fEIft & st BT e

2) Difference between the fore bearing and back bearing is always equal to 180 Degrees.
319 31T 3R uree 31T @1 37a¥ Ao 180 fEit & RreR gaT g

3) Difference between the fore bearing and back bearing is not equal to 180 Degrees.
319 3T 3R ureE 31T @1 3w gHem 180 fEI & sRreR T g g

4) Difference between the fore bearing and back bearing is always equal to 360 Degrees.
319 31T 3R uree 31T @1 37N 9O 360 fEI % ReR gaTE

Correct Answer: Difference between the fore bearing and back bearing is not equal to 180 Degrees.

317 FRAT 3R uTTT FRAT BT 3R AT 180 FEN F TR A Brav &
Candidate Answer: [ NOT ANSWERED ]

QID : 741 - Which of the following error is most likely to occur in the plane table surveying?

FrfeRaa & & # +f Ffe = Tae adenr § g aifts g @5 Fvmaer §2



Options:

1) Error in sighting
T A

2) Error in orientation

W@Tﬁ-g% FRESHERS NOW

3) Error in leveling

T § e

4) Error in measurement

ATg # Ffe

Correct Answer: Error in orientation
fronfder i gfe

Candidate Answer: Error in orientation

fenfrder A gfe
QID : 742 - Which of the following is the expression for the additive constant, if f is the focal length of objective and i is the stadia interval?

Fr=feraa & & 319 a1 At Fraais & fog o g, afs f g 3 v g0 iR i wefsar s 22
Options:

1)f-i

2)f/i

3)f+d

4) fxi

Correct Answer: f + d

Candidate Answer: f + d

QID : 743 - The staff reading taken on a staff held at a distance of 50 m from the instrument with the bubble central is 1.465 m. When the bubble is moved 4 divisions
out of the centre, the staff reading is 1.472 m. What will be the radius of curvature (m) of the bubble tube, if the length of one division is 2 mm?

YA 5 P AT STBIIT H 50 e BT G TR AT Teh T TR o1 TS ITH TS 1.465 W § 5 oIl B b AT 4 W T WA [haT SITelT g, A
TETH TS 1.472 Wex § Yergerl < &1 ashal o (Fex) F=ar g, afy we Wit Y ofers 2 frefr 82

Options:

1) 30

2)43.7

3)57.14

4) 66.34
Correct Answer: 57.14
Candidate Answer: [ NOT ANSWERED ]

QID : 744 - Which of the following is the CORRECT ratio of refraction correction to curvature correction?

Fr=fefea & & sroad & GuR | amhdr S GuR F for wé srgura @= &2

Options:
1)1/4
2)1/6
3)1/7
4)1/9

Correct Answer: 1/7
Candidate Answer: [ NOT ANSWERED ]

QID : 745 - Which of the following instrument is used for centering the theodolite in windy conditions?

Freafafiaa & @ o9 a1 9= gar @) Ruferal § Rrreiarge & Siad w31 & fore ya forar sirar 2
Options:

1) Cross staff

I WTh

2) Optical plummet

T HIEe (fHe)

3) Optical square

Peanip

4) Spirit level

roTad (Ryre oae)

Correct Answer: Optical plummet

FhTeNT AIge (w[He)

Candidate Answer: Optical plummet

T HIge (wHe)



QID : 746 - Which of the following test is used to make the line of sight perpendicular to the horizontal axis?

Frferfaa & & fre wteror & fares & gfte-Yar & gifrst s1at &Y diaaa #3a & fora yain foma e 22

Options:

1) Azimuth test FRESHERS NOW
fetor (3rifire) wdteror

2) Cross hair ring test

g gax R adgror

3) Spire test

ST (FATE) TRT&ToT

4) Vertical arc test

o TT g

Correct Answer: Azimuth test
fearor (3rifre) uderor
Candidate Answer: Azimuth test

feror (3rifrer) uteqor

QID : 747 - Which of the following statement is TRUE for the linear reservoir?

Freafefaa & & i 91 B2 [T o9 & R 22

Options:
1) Storage is proportional to inflow discharge.

g 3r=Tatg frdgs & smguifers B

2) Storage is proportional to outflow discharge.

g afyaty frdgs & smgufers B

3) Storage is proportional to square of inflow discharge.

g arTarg frdgs & ot & smgufers B

4) Storage is proportional to square of outflow discharge.
T afaty Frdes % @t 3 s 3

Correct Answer: Storage is proportional to outflow discharge.
Fyrg afgate Frdea & srguifas 21

Candidate Answer: [ NOT ANSWERED ]

QID : 748 - A 45 cm diametre well penetrates an unconfined aquifer of 30 m thick. Under the steady pumping rate for a long time, the drawdown'’s at two observation
wells 10 m and 20 m from the pumping well are 5 m and 3.5 m respectively. What will be the discharge (cubic metre), if the permeability of the aquifer is given as 20
m/day?

T 45 JHt T 30 e H AT F TH ST STy & 12T 326t aRE & WAV el & | T THI e ATt uftivT aX & g, HA9n 5 Hex iR 3.5 e & &
ST Fail & URRT STerade & S e $af A 10 #ex 3l 20 HeX B | 3R Serw i 3 uRerRrar 20 #ex / e & wu H & Sl g, | warg (Rgfee W)
T gIT?

Options:

Correct Answer: 0.08
Candidate Answer: [ NOT ANSWERED ]

QID : 749 - What will be the cant deficiency (cm), if maximum safe speed on a 5 Degree curve of a broad gauge track is 110 km/h and average speed of train is 85
km/h?

Fe d wit () 7 ERM, SR T wTuss S S 9t 5 Rt ask wR stftrea gRfdr iy 110 Rl / der g ol g @it st wifir 85 Rt / wer g
Options:

Correct Answer: 10
Candidate Answer: [ NOT ANSWERED ]|

QID : 750 - What will be the shift of transition curve, if the length of transition curve is 80 m and radius of the curve is 300 m?

YR I3k Y UTell FRT BT, 3R UIRATHA a3k i oiaTs 80 Hiex 3 a3 & e 300 Mex 22
Options:

4)21.33
Correct Answer: 0.89
Candidate Answer: [ NOT ANSWERED ]



QID : 751 - Design of a riveted joint, is based on the assumption

Raee sirg &7 fewrea, amom ux snenRa &

Options:

1) Load is uniformly distributed among all the rivets

wire 94 Raew & dra wa+ wu & RaRa frarmar g

2) Shear stress on a rivet is uniformly distributed over its gross area

RAe IR FaR= BT 991G 31U Tohed 5 WX THHE ®U I frala frar smar g
3) Bearing stress is uniform between the contact surfaces of the plate and the rivet
4) All option are correct

Tt frpea T &

Correct Answer: All option are correct

T ferpoa T &

Candidate Answer: All option are correct

Y frpea T &

QID : 752 - Effective length of a column effectively held in position and restrained in directions at both ends is

T <7 B Refy # v g 3R S R ur el  Wifra ue wierd # purd e #
Options:
1L

2)0.67L
3)0.85L

4)15L
Correct Answer: 0.67 L
Candidate Answer: L

QID : 753 - The slenderness ratio of a column is zero when its length

T FIH BT FAVSIA SIUTA I BT 5, ST THS! olalrs
Options:
1) is zero

e

2) is equal to its radius of gyration

TR & 370+ BT & ReR g

3) is supported on all sides throughout its length

T TP 310 oS A FalRia g

4) None of these

TTH A IS TE

Correct Answer: is supported on all sides throughout its length
T TRE U= s § FalRia g

Candidate Answer: None of these

T IS S
QID : 754 - Outstanding length of a compression member consisting of a channel is measured as

Rt ST & Freterr Ueh TS e &1 IhTAT AidTS Y 39 a¥g I HIUT SIrar §
Options:

1) half of the nominal width

ATTATS TSTS BT 3T

2) nominal width of the section

STHET &} AT =TS

3) from the edge to the first row of rivets
R & Raea #Y ugeh ufRe & fog

4) None of these

TR A B TE

Correct Answer: nominal width of the section
STYHRT &} AT <SS

Candidate Answer: half of the nominal width
ATHETS ASTS BT IMET

QID : 755 - The equivalent axial load may be defined as the load which produces a stress equal to

TRTEN 3187 YN Bl eile & 1 § gRUTRIe fpar i ehdr & it b 58 sRTaR a=11a &1 der ear &

FRESHERS NOW



Options:

1) maximum stress produced by the eccentric load
freretor YR gRT Seu=T Sifreaw a9 g

2) maximum stressed fiber

STt BIReR W SR FRESHERS NOW
3) bending stress

RS
4) None of these

A G RIS TE

Correct Answer: maximum stress produced by the eccentric load
fercterr IR gRT S Sifrmaw a9 g

Candidate Answer: maximum stress produced by the eccentric load
fercTeTor YR ERT S0 Sifras a=a

QID : 756 - For the economical design of a combined footing to support two equal column loads the projections of beams in lower tier are kept such that bending
moment under column is equal to

3 SRR WY TS BT T B & FoT FGh =_07 & Siien fewims & forg frreret T o ot &7 srgom e wime 8, A7l 47 & <1 et o7 4701 SH SIaY
gl

Options:

1) bending moment at the center of the beam

o1 35 o & gy T g

2) half the bending moment at the center of the beam
1 & Fx H ST b BT &7

3) twice the bending moment at the center of the beam
& & b # 3 IR b BT &7

4) None of these

T A B TE

Correct Answer: bending moment at the center of the beam
o7 35 S 3 g o 8T

Candidate Answer: [ NOT ANSWERED ]

QID : 757 - A beam is defined as a structural member subjected to

T SIH B GAHTHS G5 & ®wu 3 aRuifya frar sirar 8, gord ag
Options:

1) axial loading

sTefrg afET

2) axial and transverse loading

3187 AR sy we

3) transverse loading

GEIGE
4) None of these

TTH A BIS TG

Correct Answer: transverse loading
SIS eI

Candidate Answer: axial loading

arefrg enfE

QID : 758 - The gross section of the web of a beam is defined as

Teh ST &Y A & Hebol T I 39 g & Ry frar mar g

Options:
1) depth of the beam multiplied by its web thickness

i Y TERTE T A9 WeTS A PO FRA R
2) width of the flange multiplied by its web thickness

et gam frrT @) <iers Swast 9 Wiers & o gl &

3) sum of the flange width and depth of the beam multiplied by the web thickness
T AgTs 3R i 9t TERIE BT AT BT AT HieTS A o

4) None of these

ST A BIE TE

Correct Answer: depth of the beam multiplied by its web thickness

S B TENTE THH! A9 HierE d Yo e §

Candidate Answer: None of these

T G BIE T



QID : 759 - The effective length L of a simply supported beam with ends restrained against torsion, and also the ends of compression flange partially restrained
against lateral bending is given by

T FERIT T & Tt wers L, i R wie & foee vy v B, SR e e & Raerw siifires wu @ wfoied dite & fh g8e o Ru e E
Options: FRESHERS NOW
1) L= span

L = 3rafer

2) L= 0.85 span

L = 0.85 sraf

3) L=0.75 span

L =0.75 sraf

4) L= 0.7 span

L=0.7 srafy

Correct Answer: L= 0.85 span

L =0.85 3mafy
Candidate Answer: [ NOT ANSWERED ]

QID : 760 - The connection of one beam to another beam by means of an angle at the bottom and an angle at the top, is known as

= T BT 3R 2 o) T I F U i & SR T BT e, §H W A ST St g

Options:
1) unstiffened seated connection

Frrater Rer waere=

2) stiffened seated connection
g gon ReR Fae

3) seated connection

ReR FaeFe

4) None of these

T AP 7E

Correct Answer: seated connection
ReR waee=

Candidate Answer: None of these

T A BIS TS
QID : 761 - Separation of water or water sand cement from a freshly mixed concrete is known

<ot Rifdra st | uri a1 gt & I W Y 3ol B B S A A ST ST 8
Options:

1) bleeding

T

2) creeping

SRR

3) segregation

S GRic)

4) flooding

TATET

Correct Answer: bleeding
wRfET

Candidate Answer: segregation
3Tel g

QID : 762 - For road pavements, the cement generally used is

ASH & Feurr & forg, ik ux ST g4 areft TWe gkt

Options:

1) ordinary Portland cement
YR iéele WA

2) rapid hardening cement
ol & B dred! e
3) low heat cement

HY 919 e

4) blast furnace slag cement

AT B T HHe

Correct Answer: rapid hardening cement
TSI AT g aTelt He

Candidate Answer: rapid hardening cement

Aol F & B arel! e



QID : 763 - Hydration of cement is due to chemical action of water with

T BT FIIIIE, T U BT TaTai+S Fhar & FRergar g

Options:
1) Tricalcium silicate and dicalcium silicate

aTedhicerad faferhe 3R sredhfeeray faferhe

2) Dicalcium silicate and tricalcium aluminate

SrrbfRera Riftribe SR gt fovaw Tegfre

3) Tricalcium aluminate and tricalcium alumino ferrite

FrEhfeura Tegfime 3R grebfeoraw sifeas hrge

4) All option are correct

T frpea T &

Correct Answer: All option are correct
T frpoa w €

Candidate Answer: All option are correct

Y frpea T &

QID : 764 - Internal friction between the ingredients of concrete, is decreased by using

hepic B FTaY & dr TR THT, THHT BT SUANT B B fhaT ST Tehal &
Options:

1) less water

HH =Y

2) fine aggregates

CINERE Cep)

3) rich mix

g frsior

4) more water and coarse aggregates

SIEERICIE R R Cop)

Correct Answer: more water and coarse aggregates
31 urY SR HreTr AT

Candidate Answer: more water and coarse aggregates

ST aTeY SiR AT ageEd

QID : 765 - In a slump test, each layer of concrete is compacted by a steel rod 60 cm long and of 16 mm diameter for

AT TET0T B, SIS B Tcdeh IR BT 60 cm ot 3 16 mm =amq &Y el IS gRT 5T forg ietee fpam sirar g
Options:

1) 20 times

209

2) 25 times

259

3) 30 times

30 R

4) 40 times
40 times

Correct Answer: 25 times
259R

Candidate Answer: 25 times
259

QID : 766 - To prevent segregation, the maximum height of placing concrete is

Options:
1) 100 cm

2) 125cm
3) 150 cm

4) 200 cm
Correct Answer: 100 cm
Candidate Answer: 200 cm

QID : 767 - The shuttering of a hall measuring 4 m x 5 m, can be removed after

4 m x 5 m T ATI dTel gieT T IERIT, Y TS o1 H TSHT oIl bl &
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Options:

1) 5days

5f

2) 7 days

7=

3) 10 days

10 fe=

4) 14 days

14T

Correct Answer: 7 days
7%=

Candidate Answer: 14 days
14

QID : 768 - For compacting plain concrete road surface of thickness less than 20 cm, we use

20 A A HY HIETE B THAA S TSHI Bl Sh B 17, TH SUTNT HIA &

Options:

1) internal vibrator
3 argsex
2) screed vibrator
THIS ATSsIeX

3) form vibrator
B argseY

4) None of these
T { B TE
Correct Answer: screed vibrator
ThIS a1gsieY

Candidate Answer: [ NOT ANSWERED ]

QID : 769 - Pick up the correct statement from the following

o1 & I Y= Y ugaIH AR

Options:

1) Construction joints in columns are provided a few cm below the junction of beam
Tl # Ferafor Sirgl bt i & S &/ B om = weTe fmar wirar @

2) Construction joints in columns are provided at the bottom haunching
BieTd & ferator sirgt @ =i giveiiar & ver far sirar &

3) Construction joint in beams and slabs are provided within middle third
9 3R T | forator siige gea RN & WdR e fpar srar g

4) All option are correct

Tt frepeu aEt &

Correct Answer: All option are correct

T frper Tt €

Candidate Answer: All option are correct

it fper ad g

QID : 770 - An excess of flaky particles in concrete aggregates

3 =g | 31IRh U= Bl &1 g
Options:

1) decreases the workability
wrIefrerdr ue ot &

2) increases the quantity of water and sand
it 3R YT B AT 9 W g

3) affects the durability of concrete

hehie P wiireT oY puifrd HRar g

4) All option are correct

Y frpea T €

Correct Answer: All option are correct

I frpea T &

Candidate Answer: All option are correct

Y frpea T €

QID : 771 - For the construction of cement concrete dams, the maximum permissible size of the aggregates is

FRESHERS NOW



Options:
1) 40 mm

2) 50 mm
3) 60 mm

4) 70 mm
Correct Answer: 40 mm
Candidate Answer: 40 mm

QID : 772 - For given workability the grade requiring the least amount of water is one that gives

few g Brderdr % fog ag I R B9 @ 9 U @ snavgear gt ag ST e, S earg

Options:
1) greatest surface area for the given cement and aggregates

fg g Wiiie SN wgoer 3 forg et ot wrerg &
2) least surface area for the given cement and aggregates
e a1g HRie SR e & fog &9 & 9 wag e

3) least weight for the given cement and aggregates

fu e e iR wgeerg & forg & aore

4) None of these

ST A HIE TE

Correct Answer: greatest surface area for the given cement and aggregates
e a1y Whie oiR W= & forg e ot wag &

Candidate Answer: [ NOT ANSWERED ]

QID : 773 - The type of aggregates of same nominal size, which contains less voids when compacted are

HAT ATHATH HR & T H1 76, R siatee g9 wR w0 R g €
Options:

1) rounded spherical

TATSR

2) irregular

srfrafa

3) flaky

ERGEIRS

4) None of these

TR A HIE TE

Correct Answer: rounded spherical
TATHR I

Candidate Answer: irregular

sttt

QID : 774 - For quality control of Portland cement the test essentially done is

s Wi & Tura faeimor 3 forg sifvrard wu @ frar ar wdemor
Options:

1) setting time

Y A HAT

2) soundness

3) tensile strength
T dThd
4) All option are correct

T frpeu TEt €
Correct Answer: All option are correct
Y frpea T &

Candidate Answer: All option are correct

T T Y €

QID : 775 - Pick up the correct statement from the following

o & ) UE B ugaE B
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Options:

1)pThe percentage of voids in the aggregate after proper compaction is called the angularity number
TR FUAT & 1S Aehel A R CATH BT WT9Id SATHer HEAT HgT el §

2) Angular aggregate are superior to rounded aggregate

FHIUT FoT el IRATH & Jgax @

3) The surface texture depends upon the hardness, grain size, free structure and the structure of the rock
TAE IHTIE FHIIRET, 3ITS B, e T AR UeR &t Ior uR FriR #ar g

4) All option are correct

Y frepeu w3t §

Correct Answer: All option are correct

T faren wEt €

Candidate Answer: All option are correct

Tt frpea T €

QID : 776 - No shrinkage occurs if the concrete is placed in a relative humidity of

IS Heple T gIelT g, AT Dehie T AU T (TSN # T wrar &
Options:

Correct Answer: 1
Candidate Answer: 1

QID : 777 - Argillaceous materials are those:

s arnh ag gkt &

Options:

1) which have alumina as the main constituent
Y I Teh & WY H TegfiT &

2) which have lime as the main constituent

Y I TeH & WY H LA R

3) which evolve heat on the addition of water
ST gTeit & STer oY Tt ST &

4) which easily break when hammered lightly
Y geTh | g2irsT Temm wR ot s & 2 we
Correct Answer: which have alumina as the main constituent
ST 0 UEH & W § T

Candidate Answer: which evolve heat on the addition of water

ST & STer ux T ST g

QID : 778 - Spot the odd statement:

T8 A AT HUT B UG B
Options:

1) rounded aggregate

e Tgeer g

2) irregular or partly rounded aggregate
Sferafie aT 3iTfre o & et guf

3) angular flaky aggregate

HIofir IRAIR Fel

4) single-size aggregate

Tehel-3ThIN FY==Yd

Correct Answer: single-size aggregate
Thet-3ThR A=

Candidate Answer: angular flaky aggregate

BT TSR Fel

QID : 779 - If d and n are the effective depth and depth of the neutral axis respectively of a singly reinforced beam, the lever arm of the beam, is

Tfe d AR n T T vafera di9 & HHIE T 3787 B MENE AR TENE §, A N BN wig g

Options:
1)d

2)n
3) d+n/3

4)d-n/3
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Correct Answer: d-n/3
Candidate Answer: d+ n/3

QID : 780 - Pick up the incorrect statement from the following. The intensity of horizontal shear stress at the elemental part of a beam section, iFsRéisiﬁEk:stIXJ‘)Joportional
to

FrafeRad & TeTd 9 gerd 9 TS F et HRTH &iferst waet a1a Y T e 36 SguTfad gl 8
Options:

1) shear force

o arma

2) area of the section

ST T E6e

3) distance of the C.G. of the area from its neutral axis

CG & I &7 Y qewT 3T&T |

4) moment of the beam section about its neutral axis

THBT TSTS 3787 F TR A SIIH STTHIT BT &707

Correct Answer: moment of the beam section about its neutral axis
TS AT 3787 F TR H SIH STTHIT BT &707

Candidate Answer: moment of the beam section about its neutral axis

TSB! TSES 3787 F TR A SI1H STTHIT BT &707

QID : 781 - If the average bending stress is 6 kg/cm? for M 150 grade concrete, the length of embedment of a bar of diameter d according to I.S. 456 specifications is

afy Sad g BT AT M 150 IS Hsvre & g 6 kg/em? B, AT 1S 456 fafdrearsti & /e 2T d % TF IR Y 3iTac o dars §
Options:

1)28d

2)38d

3)48d

4)58d
Correct Answer: 58 d
Candidate Answer: [ NOT ANSWERED ]|

QID : 782 - A singly reinforced concrete beam of 25 cm width and 70 cm effective depth is provided with 18.75 cm? steel. If the modular ratio (m) is 15, the depth of
the neutral axis, is

T Tohel Taferd dshie e et 25 9 Y aterd sl 70 SEnfiex yurd evE &1 18.75 cm? Wier & 1 Wt foma w1 & afy Afgger srgura (m) 15 8,
TS 3787 P TGS &

Options:

1) 20 cm

2)25cm

3)30cm

4) 35¢cm
Correct Answer: 30 cm
Candidate Answer: [ NOT ANSWERED ]

QID : 783 - If the neutral axis of a T-beam is below the slab, the relationship between the flange width B, depth of neutral axis n, thickness of the slab dg, effective
depth of the beam d, gross area of tensile steel A; and the modular ratio m may be stated as

T A7 o T 31et woia & A B, A ATt TSTS B, TERN 3187 T IMERTS n, AT o WETE dg, I B U TERTE d, T ST A BT B &1 AR AegeR
% YT Heer SIYUT m Y HET S Fehell &

Options:

1) Bds (n - dg/2)=mAt(d+n)

2) Bds (n + dg/2)=mAt(d - n)

3) Bdg (n - dg/2)=mAt(d - n)

4) None of these

T A BIS T

Correct Answer: Bdg (n - dg/2)=mAt(d - n)

Candidate Answer: [ NOT ANSWERED ]

QID : 784 - In a simply supported slab, alternate bars are curtailed at

T TN AT §U T F, Apfeoas Herral $f 36 IR H9 $ (<d1 oIl 3



Options:

1) 1/4 of the span
3rafr &1 1/4

2) 1/5M of the span
Irafr &1 1/5

3) 1/6!™ of the span
srafr &1 1/6

4) 1/7% of the span
W H11/7-a
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Correct Answer: 1/7t of the span
W Hr1/7-a

Candidate Answer: 1/4t" of the span
srafy &1 1/4

QID : 785 - In a slab, the pitch of the main reinforcement should not exceed its effective depth

Toid H, T GGRIHR0T B 1orel ST+ FHIEY TGS F ST g1 g1 =gy
Options:

1) three times

A AT

2) four times

AR

3) five times

arer A

4) two times

A

Correct Answer: three times
T T

Candidate Answer: three times

BIERICH
QID : 786 - In a combined footing if shear stress exceeds 5 kg/cm?, the nominal stirrups provided are

FHARAT TG 5 kg/em? F 31 g1 R Sgeh BT H, yare o o aredt A Rew
Options:

1) 6 legged

64

2) 8 legged

8¢

3) 10 legged

108

4) 12 legged

12%R

Correct Answer: 12 legged

120

Candidate Answer: 8 legged
8

QID : 787 - To ensure that the hogging bending moment at two points of suspension of a pile of length L equals the sagging moment at its center, the distance of the
points of suspension from either end is

Tg GHRed B & forg o 7iaTs L & <X o Feretare & <1 Rig st ox iR e &7 4107, S8 &g & ARNT Ut & araR gram 8, af el it siq A e s Rigar g g
Options:
1)0.107 L

2)0.207 L
3)0.307L

4) 0.407 L
Correct Answer: 0.207 L
Candidate Answer: [ NOT ANSWERED ]

QID : 788 - To have pressure wholly compressive under the base of a retaining wall if width b, the resultant of the weight of the wall and the pressure exerted by the
retained, earth should have eccentricity not more than

T SR 1T T8 & MU 0 G g | S91E STei & fofg AT =TS b, A & awi & uRomwRawy SiR I8 §U §RT S91a ST 9I1g, A gt 3 Tadfaiie! g9
3t g gt =Ry



Options:
1) b/3

2)b/4
3) b/5 FRESHERS NOW

4) b/6
Correct Answer: b/6
Candidate Answer: b/6

QID : 789 - The ratio of the length and diameter of a simply supported uniform circular beam which experiences maximum bending stress equal to tensile stress due
to same load at its mid span is

T I T8 OO ST BT e SR SR BT ST, S A YAt § I Al o RN G a1 & ARTaR STdad e a1 Bl STIHT BT &

Options:
1)1/8

2)1/4
3)1/2

4)1/3
Correct Answer: 1/2
Candidate Answer: 1/2

QID : 790 - The ratio of the deflections of the free end of a cantilever due to an isolated load at 1/3rd and 2/3rd of the span is

1/3rd 3R 2/ 3rd & 37T # gAUH HR & HRUT SHE & Teh3id & (4907 BT STgard

Options:
1)1/7

2)2/7
3)3/7

4) 2/5
Correct Answer: 2/7
Candidate Answer: 1/7

QID : 791 - A compound bar consists of two bars of equal length. Steel bar cross-section is 3500 mm?2 and that of brass bar is 3000 mmZ. These are subjected to a
compressive load 100,000 N. If E,=0.2 MN/mm? and Ep=0.1 MN/mmz, the stresses developed are

T AT IR & FAE TS & ST IR B § | W IR shiE-Her 3500 mm? € 3R sreT R 3000 mm? # 1 3 T HHiR ¥R 100,000 N F refiE &1 A £, = 0.2 MN
/ mm?Z 3R Ep = 0.1 MN / mm?2, Y fsp e g arear a=ma &

Options:

1) 6,=10 N/mm?2, 64=20 N/mm?

2) 0,=8 N/mm2, 64=16 N/mm?
3) 0p=6 N/mm2, 64=12 N/mm?

4) 0,=5 N/mm2, 64=10 N/mm?
Correct Answer: 0,=10 N/mm?2, 05=20 N/mm?

Candidate Answer: o,=8 N/mm?2, gg=16 N/mm?

QID : 792 - The radius of gyration of rectangular section (depth D, width B) from a centroidal axis parallel to the width is

SIAThR TS (TS D, =igrE B) & diers A U Agirsel 3781 GHHIeR & =me frear §

Options:
1) D/2

2)D/V3
3) D/(2v3)

4) D/(4v3)
Correct Answer: D/(2v3)
Candidate Answer: D/v3



QID : 793 -

For determining the force in AB of the truss shown
in the figure below by method of sections, the
section is made to pass through AB,AD and
EDand the moments are taken about

Y @ At g o iy R d Gem e &
AB,Haa &1 UR 34 & faT, AB, AD 3R

EDT Y UG P e g AR W ya e e ag §

Options:

1) joint C

Sifge C

2) joint B

Silse B

3) joint D

Siige D

4) joint A

IECY

Correct Answer: joint D
Siige D

Candidate Answer: [ NOT ANSWERED ]

QID :794 -

The force in €D of the truss shown in the figure

i feau e ¥ v o H e H 4 A ad 3

30°
AT A

Options:

1) 3t compression
3tEdre

2) 3t tension
KIGEIC]

3) zero

o

4) 1.5t compression

1.5t TdgT

-
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Correct Answer: zero

RSl

Candidate Answer: 3t compression

3tEdsT

FRESHERS NOW
QID : 795 - A shaft rotating N.R.M. under a torque T, transmits a power of

T 9T Ui N.R.M | T i &) & a8, Teh 91Rh HamRa Har &
Options:
1) TiN/30 Newton meters/sec

TnN/30 =g Hie /sec

2) TiN/30 Newton meters/min

TniN/30 =g #eX /min

3) TiN/60 Newton meters/min

TnN/60 =g #eX /min

4) TniN/60 Newton meters/sec

TriN/60 =Je+ Hiex /sec

Correct Answer: TiN/30 Newton meters/sec
TrN/30 g+ HIex /sec

Candidate Answer: TiN/60 Newton meters/sec

TnN/60 =g Hiex /sec

QID : 796 - The greatest load which a spring can carry without getting permanently distorted is called

T TST AT ST R WU 3 farra g & o Rt g1 o S Wt €, 39 wET Sar g
Options:
1) stiffness

HSRAT

2) proof resilience

SEGRGRICIEE]

3) proof stress

PAIGEICE

4) proof load

T HRY

Correct Answer: proof load

Th U

Candidate Answer: proof resilience

QID : 797 - In case of a simply supported | — section beam of span L and loaded with a central load W, the length of elasto-plastic zone of the plastic hinge is

T L &7 F9fid 1-3rg T i & Arel # iR FEi wire W S |1 s e STt B, wiiRes fEe & saRe- e &1 &l @i e 8
Options:

1)L/2

2)L/3

3)L/4

4)L/5
Correct Answer: L/5
Candidate Answer: [ NOT ANSWERED |

QID : 798 - The horizontal thrust on the ends of a two-hinged semicircular arch of radius R carrying

Frer R o WM 1ol 31w arel g er 3 & B W giftrer a8 o wrar ¥

Options:
1) a uniformly distributed load w per unit run over its right half span is (2/3)* (wR/m)

T 1 w0 fraRa R vl go1$ wrem &1 gifga smen s € (2/3) * (WR /1)

2) a uniformly distributed load w per unit run over its entire span is (4/3)* (WR/m)

TH A /U A FaRa IR AT seE aam S R | & w (4/3) * (WR /)

3) a distributed load varying from zero at the left end to w per unit horizontal run at the right end, is (2/3)* (WR/m)
¢ SR A I A T FraRa MR arerT-erenT giforst ¥ it gftre & sRTeR €, (2/3) * (WR /1)

4) All option are correct

I frpea T &

Correct Answer: All option are correct

Y frpea a &

Candidate Answer: All option are correct

Tt T Y &



QID : 799 - If a three-hinged parabolic arch, (span |, rise h) is carrying a uniformly distributed load w/unit length over the entire span,

iy -t gon INeiferes o, (|91, 9ge h) R R o) oo o & fraRa R w / give darg aar g o,
Options:

1) horizontal thrust is (wl2)/8h

ST SR (wi?) /8h &

2) Shear Force will be zero throughout
PRR wf ¥ v & SR o g s
3) Bending Moment will be zero throughout
I O WX I &1 S

4) All option are correct

T frepeu a1t §

Correct Answer: All option are correct

T frpoa a &

Candidate Answer: All option are correct

it fper ad g
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QID : 800 - The equivalent length of a column of length L having both the end fixed is

L TS % U HieTT &1 aTax oS forast 1 € sia e &

Options:
1) 2L

2)L
3)L/2

4)L/V2
Correct Answer: L/2
Candidate Answer: L/2





